Name _________________________________________________
Exam I, Math 1010, Summer 2005

When completing this exam, be certain to complete all parts of all problems!
1. Find the distance between the points A=(10, 6) and B=(5, -3).

2. Determine whether or not the following three points for a right triangle in the Cartesian plane.  Graph the points and then verify your answer by using the distance formula and the Pythagorean Theorem.  A=(-1, 6), B=(13, 4), C=(11, -10).


[image: image1]
3. Find the midpoint of the line segment connecting the points A=(-6, 2) and 

B=(9, 1).

4. Graph the following equation by hand on the axes provided by plotting points.  Then next to it, make a sketch of the graph as it appears on your calculator.  List the values of xmin, xmax, ymin, and ymax on your viewing window.
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5. Algebraically determine the x-intercept(s) and the y-intercept(s) if they exist of the following equation (show work), and then verify your answer on the calculator using the zero command for the x-intercept, and the table function for the y-intercept.  State your answers either as whole numbers (if that is appropriate) or with two decimal places accuracy.
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6. Use your graphing calculator to find the solution to the following equation.  State which method you used (zero or intersect), what your Y1 (and Y2 if applicable) was/were, the size of the window you used, and the value of the solution, to two decimal places accuracy.
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7. Solve the following equations algebraically.  You may factor, or use the quadratic formula as necessary.  State your answers as fractions, square roots or whole numbers as needed (no decimals unless you started with them).
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B. 
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8. Find the real zeros of 
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.  You may use any method.

9. Solve algebraically for x.  
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10. Solve algebraically for x.  
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11.  Solve algebraically for x.   
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12.  Chose one of the following equations to solve for x.  You may use algebraic methods or calculator methods.  Do only one.
A. 
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B. 
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C. 
[image: image15.wmf]2

2

3

2

=

-

+

x

x


13. Solve the linear inequality 
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.  State your solution in interval notation.

14. Using either algebraic or calculator methods, solve for the inequality 
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15. Find the slope of the line connecting the points A=(-2, 6) and B=(2, -2).
16.  Find the equation of the line that passes through the point (-1, 3) and has slope m= -3.

17. Find the equation of the line perpendicular to the line in problem 16, and passing through the point (1, 5).
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